Trigonometric Functions - Class XI

Related Questions with Solutions

Questions

Quetion: 01
If cos @ + cos ¢ = v, cos 20 + cos 2¢ = 3 and cos 36 + cos 3¢ = 7, then

A.cos? 0 + cos® ¢ = 1—1—5
o f+2
2 4
C.2a° +v = 3a(l + )
D.a+ B+ v =3aby

B.cosf - cos¢p =

(cosf + cos@)? = A, [i]

= cos® 0 + cos® ¢ + 2 cosf cos ¢ = a?
Now, cos 20 + cos2¢ = 3

= (2cos’0 —1) + (2cos’ ¢ — 1) = 8

#2(00820—%0082@ =p+2
:>COSQ¢9+COSZ¢:§+1 ................... [iil

From [i] and [ii], v;e get

cosf - cos¢p = o« _p+2

Also, cos 36 + cos 3¢ :Z}y

= (4cos39 — 30059) + (4cos3gb — SCOS(b) =7
= 4 (cos3 6 + cos® gb) — 3(cos@ +cos ) =

=4 [(0080 + cos ¢) (c032 0 + cos? ¢ — cos B cos (b)] — 3(cos @ + cosp) =

oo (22) L (- )] s

20° +7 = 3a(1l + )

Correct Options

Answer:01
Correct Options: A, B, C



